Parts List .«..x:

3 papUEN

Model: BCW234S IR—=Y) Zk3—F 524979






HEaTROTHERIZDINT

1. EREDTEX DB

wiEs (BX) - BRES - BBHREW - MEZTHIEZEL,

INTEATIAG (X BI R DEE R E ZSRBZEL,

MamlEwnd THRILMIESRSR ] Z2THERATIZEL,
AERRITEBRLIZLDEHYFET .
AERIBRDAFELGCEETHIIENHYFET

Fig. DRRIZTDNT

AFAMR—=UIZFig XXBSRBERTLTHYET . COXXKITAFAIM—D
ELDORHELBEZTERLET,

o a ks 0N

X

T 2R I eeeeeeeeeesessseseseeeeeeeseeeeeeeeeeeeeeee e 1~4
2. IOV (DTUDT =R DU e 5~38
K3 ROAVIN (U b B 170 R St 3 B 9~ 10
4. T (FXTLR BBFUD) s 11~ 12



1.BCW234S




RHEES | HaES B & o &% &
1-1 364877 | BCW234S 1
1-2 817002 | 6 h9# bk (+)WSW 4 | M5X20
1-3 221473 | 979FT—R9357 1 |4~6794
1-4 221474 | 959Fh—2A 1
1-5 016405 | A 7YY 1 | #62002Z
1-6 013825 | Ch'4kin 1 | H30
1-7 096042 | 6 HYk Wb (H)WSW 1 | M5X30
1-8 229091 | #7VFFNFLTRA 1
1-9 237162 | TUNIVH AN 1
1-10 218476 | T YNV HEMITY 1
1-11 237163 | K )YUh 4hy A b4 1
1-12 215532 | Kv44=%") 1
1-13 054691 | YUhT9 9347 1 [ 14794
1-14 089738 | 6 AU Wb (+ T77EVH) 1 | M5X15
1-15 215418 | NN LMY hTY H34T 1 |16 794
1-16 092561 | 6 h9HK Lk (+)SW 6 | M5X25
1-17 237165 | Y IAUMNATH34T 1 |18 ~ 237494
1-18 237166 | ¥ 34UMNAT IR 1
1-19 261246 | 6 h97FY%HK W WSW 1 | M5X25
1-20 283139 | A%Y1 1 | M5X12
1-21 236962 | /7 1 | M8X26L
1-22 126990 | 6 A9 FYh 1 | M8
1-23 550131 | E3%h'% 1 | M8
1-24 237504 | F194v-Y 1
1-25 237170 | H'4hY B IhH 1
1-26 2371171 | TUN9YY B 1
1-27 216079 | AR 1
1-28 225835 | ¥’ vh—R9347 1 |29~ 34754
1-29 225897 | 6 9Lk (W 1 | M6X8
1-30 092550 | 6 K9 b (H)SW 1 | M5X25-7T
1-31 225891 | NnE/KRA 1
1-32 225892 | NE/K'AB 1
1-33 225893 | N2 RYEF UL 1 | M8
1-34 225896 | 6 hYW Lk (+) 1 | M5X10
1-35 215350 | ¥vv7° 1
1-36 242231 | 2—L7°L—F 1 | BCW234S
1-37 231654 | NJv—4 1 | ECO
1-38 235791 | nUNIL A TRA 1
1-39 235792 | nUNIL B Vb4 1
1-40 560686 | M)JA'LN =934T (16/TH) 1 | 41794
1-41 560182 | AL (TH) 1 [av-74
1-42 235748 | ARYRMLIAY 1 |810L
1-43 234549 | AV —-M1-7 1 | 660L
1-44 220533 | W3 UM 9348T 1
1-45 222821 | Y 3AVAVAN =934T 1 |46 794




1.BCW234S




RHEES | BRES B @M & W &%k fis %
1-46 092561 | 6 A9 Lk (+)SW 2
-47 224624 | 97— 9 BIG-M

M5X25 77"tk







RHEES | HaES B & & &% &
2-1 875421 | IVY'Y 1 | EE231/66
2-2 289639 | Yu& 1

2-3 289643 | H'AHYb 1

2-4 267290 | A%Y1 2 | M5X20
2-5 272744 | 40914 1

2-6 267049 | B A 1

2-7 269826 | A1V (+)WSW 2 | M5X25
2-8 246697 | ¥757tV7") 1 [9~11754
2-9 246707 | B AFb 2

2-10 246704 | T4Nay7)—+ 1

2-11 246526 | A49Y1 4 | M4x8
2-12 266402 | %Y1 2 | M5X55
2- 247073 | B’ A9 1

2- 276868 | T4 —hn— 1

2-1 269827 | FAIRY (+)WSW 1 | M5X16
2-1 247186 | M7°hiN—-1v771)—b 1

2-1 563151 | A4Y1 1 | M6X15
2-1 261878 | 6 h9Fwb 1 | M6

2- 280144 | 4YE VAV (+) 1 | 4X16
2- 273674 | 47095-A 1

2-21 280488 | ATYUY 2 | #6001
2-22 261492 | #ANY—) 1

2-23 261386 | #4LY—)b 1

2-24 055185 | C h4bAn 1 | H28
2-25 261612 | 6 h97FY£K L WSW 3 | M5X30
2-26 272204 | E'ALY 1

2-27 264891 | E'AMIYVY 2

2-28 261036 | E'AMUEY 1

2-29 288520 | =—FMLATYLY 1

2-30 261576 | =997’ 2

2-31 274146 | 9709% 703077 1

2-32 269168 | #7VF7tV77) 1 |33,34 794
2-33 269169 | 47VFv1 2

2-34 269173 | A7°Yuy 1

2-35 269647 | 47VFFK Wb 2

2-36 269175 | 7U9¥ 2 | 6.1X15X1.6
2-37 261777 | 9I-7"79%% 2

2-38 283386 | 77UhN— 1

2-39 269831 | FA24Y (HWSW 4 | M5X20
2-40 277796 | Y2 TEVTY 1 |41~ 47754
2-41 277797 | n-4 1

2-42 277798 | 19 =9Y3vA4NT YT 1 |43 ~ 47744
2-43 279577 | 3-F4H347 1 | 4445791
2-44 278755 | 7°39°%vv7’ 1

2-45 278756 | 799 1







RH®EE | BaES B & 5 R 1
2-46 278754 | ¥1-7 1
2-47 278752 | ¥vv7’ 1
2-48 261076 | nurI%— 1 | 3X10
2-49 261417 | ¥3% 0 29%F+Yk 1 | M8
2-50 280381 | AN % 2
2-51 261256 | 6 h97TYEHK L WSW 2 | M4Xx25
2-52 286739 | AN=47°34° 1 | CJ6Y
2-53 263804 | - 1
2-54 282880 | )M 1
2-55 264588 | 457" 1
2-56 269705 | 3~ 1 | 5y bty
2-57 274191 | 3~ 1| A94UF294 »3A9




I>=>>

ALY -5

3.BCW234S




HaEs

B M

282404
282405
283411
283412
280930

280931
267213
280932
280933
267219

280934
280489
269833
272207

AW RE=4T 1077
A8—474077)

=

hL7' L+
FyN=27uY

ANATNAT YUY
YRS
A-77tv7")
A4—4n-7
A4—-4)7"

7=7tv77)
FAIRY (HWSW
FAIRY (HWSW
NN

— o — — o — )

—_—— N —

2~ 11794
3~ 10794

9,10 744

M4X20
M4X16
797998 R 25—+




w N

oz
FvrIL45Y. BRI >0

4.BCW234S T:>

@36

-11 -



RHEES | HaES B & o &% &
4-1 289878 | ¥¥7°L4T7EV7Y 1 [2~15744
4-2 274472 | KUK T4 1
4-3 262991 | N=VKTFA 1
4-4 262992 | KU hN - 1
4-5 261874 | 7947 1
4-6 283905 | 4'1¥77L 1
4-7 262993 | H'AFYb 1
4-8 262994 | 4°4%77L 1
4-9 282576 | h'AYb 1
4-10 289396 | ¥ IYh 1
4-11 261871 | O Yuy’ 1
4- 261876 | Yuy 1
4- 261658 | A4~ 1
4- 264682 | %Y1 2
4- 262996 | A%Y1 4
4-1 261864 | H AHYh 1
41 264691 | Oy 1
4-1 279011 | H)=+7+¥7") 1 (19~ 217244
4- 266433 | —A7tv7"Y 1

- 264695 | ILAVE 1
4-21 278761 | —+hn'— 1
4-22 269834 | FTA'I%Y (+)WSW 2 | M5X60
4-23 273515 | 4974077 1 |24~ 34754
4-24 273516 | 71—-I)4vY 1
4-25 275306 | Av9XXY7ITEUTY 1 [267494
4-26 274875 | NYRY 1
4-27 261696 | 7°1)—4"934T 1
4-28 265752 | #VVAINATTEUTY) 1 |29 ~ 34754
4-29 264031 | N47°9347 1 |30~ 32794
4-30 261115 | 4'0Ayk 1
4-31 261690 | #3947’ 1 | 160L
4-32 263038 | A—n"70-n47" 1 | 3X6X85
4-33 277887 | 7ANAT €Y7 1
4-34 261117 | 9997’ 1
4-35 269828 | TAIRY (HW 2 | M5X16
4-36 281208 | ARy (MW 1 | M5X16
4-37 281007 | 3~ 1 | F3-9h4 A1

-12 -




5.BCW234S
F B fm

- 13 -



RHEES | BRES oM & W &%k fis
5-1 221460 | K3 Ah'% 1

5-2 220534 | AYnhn'— 1

5-3 210418 | AVE' R VHAANT 1

5-4 022865 | JAVYFANT 1 | 8X10

5-5 219431 | 6 WK IANT 1 | ZAnnN 3
5-6 242227 | M)7Uh4EY A3 1

-14 -




& X

Q = ULRETR
BHEHRBEXRZEO

fLyR—- b 42— EE 0120-898-114
ZFIFRSRS: AM9:00~PN5:00(X. BH. 1A % <)

WEERAEY Printed in japan 2020-04.J




